Scotch College



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 17th December 2021 Using "RGXX" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery will be dispatched the week ending 31st December 2021 with free delivery if placed on or prior to the cut-off date of Friday 17th December 2021.

Orders can still be placed past the 17th December but will incur a late fee of up to \$17.50.

BOARDERS: Please tick the boarders box online and add the school address and your order will be delivered to the school.

To ensure you get your orders on time and not incur a late fee please place your orders before the cut off date at the top of this page.



How to order your resources

Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

Options to order

Home delivery

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- Ordering instructions
 - 1. Log on to www.campion.com.au
- 2. Click on Online ordering for parents and students.
- 3. Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
 - 4. Select your school and enter in your 4-character Resource List code, which is on the front page of this resource list.
 - 5. Select the year level and then choose the items you want to purchase. Then click on continue.
 - 6. Enter in your delivery option and complete details.
 - 7. Review and complete purchase.
 - 8. Once completed an order confirmation will be sent to your email address.
- 9. If you have purchased any ebooks you will receive a seperate activation email. You will need to follow the instructions within the email to complete the set up of each product.
- Boarders

If you wish your order to be delivered to the school, please tick the 'Boarders' box on the front of your list (where applicable) and put your boarding house address in the address field.

Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. **Delivery of these orders cannot be guaranteed prior to the commencement of the school year.**

'While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

Malaga - 751 Marshall Road, Malaga (next to Stratco)



Willetton - 28 Kembla Way, Willetton



Trading Hours

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours 8:30 am - 5:00 pm(17th Jan 2022 - 5th Feb 2022) Saturdays 8:30am - 2:00pm(Jan 22nd, Jan 29th & Feb 5th 2022) Closed – Sundays & Public Holidays

Refunds

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to end of February 2022 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

Have a Question?

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit <u>www.campion.com.au/parents</u> and find the answers you need quickly and easily.

INSTSECHDWA

Please tick the items required in the box provided \downarrow

✓ Item Item Qty Unit Total
Office Use Description No. Reqd Reqd Price \$ Amount \$

YEAR SEVEN

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

ALL STUDENTS REQUIRE THE FOLLOWING

THESE ESSENTIAL	ITFMS	ARF TO F	RF SUPPLIF	D BY PARENTS:

- 1x LARGE PENCIL CASE
- 1x ROLL OF PAPER TOWEL
- 1x BOX OF TISSUES
- 1x SATCHEL (to be purchased from Uniform Shop)

Your son will require a set of headphones that can connect to his iPad. The following is a recommended set or an adapter that can be used with any traditional headphones

https://www.officeworks.com.au/shop/officeworks/p/apple-earpods-with-lightning-connector-apmmtn2fea OR

https://www.apple.com/au/shop/product/MMX62FE/A/lightning-to-35mm-headphone-jack-adapter?

afid=p238%7CsmC6Ye47V-dc_mtid_18707vxu38484_pcrid_55471952566_pgrid_15222165886_&cid=aos-au-kwgo-pla-btb--slid---product-MMX62

	Silaproduct-minx62					
P55320	Clipfolder A4	1		1	4.65	4.65
P55479	Document Wallet Foolscap Slimpick (Pk 10)	2		1	10.50	10.50
P55546	Exercise Book A4 8mm 64 Page	3		1	1.15	1.15
P55522	Eraser Plastic Pencil Economy in sleeve	4		3	0.70	2.10
P51353	Glue Stick Artline Purple 40gm			4	2.60	10.40
P50364	Highlighter Swing Cool Wallet 4's Stabilo	6		1	9.80	9.80
P55810	Markers Smarttip Texta TX220/10 (Pkt 10 Asstd)	7		1	5.65	5.65
P56081	Marker Artline #200 Black 0.4mm			2	3.60	7.20
P56097	Pen Ballpoint Bic Cristal Black	9		2	0.60	1.20
P56098	Pen Ballpoint Bic Cristal Blue	10		2	0.60	1.20
P56099	Pen Ballpoint Bic Cristal Green	11		2	0.60	1.20
P56101	Pen Ballpoint Bic Cristal Red	12		2	0.60	1.20
P56252	Pencils-Coloured Colourush Pkt 12	13		1	4.05	4.05
P56245	Sharpener Pencil Metal Single Hole (HQ)	14		2	0.85	1.70
P52001	Pencil (2B) Goldfaber	15		12	0.55	6.60
P50090	Ruler 300mm Wooden	16		2	1.10	2.20
P65061	Attache File A4 Barkode Top Load Black	17		2	7.95	15.90
	Select RIGHT or LEFT Handed Scissors	<u>C</u>	Choose One			
P50086	Scissors 165mm Plastic Handle	18		1	3.95	3.95
	- OR -		_			
P50551	Scissors School 210mm Left Handed	19		1	5.95	5.95

STUDENTS MAY ALREADY HAVE RETAINED THE FOLLOWING ITEMS FROM YEAR 6:

- 1 x Large pencil case (to fit a ruler)
- 1 x Satchel (purchased from Uniform Shop)
- 1 x Clipboard folder PVC
- 1 x Protractor 10cm 180 4" Half Circle
- 1 x Earphones

BOARDERS: Please tick the Boarders box when placing your order online, add the address of the College and your orders will be delivered to the College.

DRAMA

NO ITEMS REQUIRED.

ENGLISH

Parents will be billed for an English novel once decided (approximately \$20.00)

A subscription to Word Flyers will be purchased for approximately \$20.00 and charged to your school account. Parents will be billed later for a Sound Waves workbook.

English Support students will be billed later for an online subscription to Literacy Planet.

P51616 Exercise Book A4 96 Page 8mm PP Cover with Margin Spirax 20 1 2.40 2.40

Please tick the items required in the box provided \(\juberline{1} \)

Ø

Item Unit Item Qty Total Description Reqd Reqd Price \$ Amount \$ Office Use **FOOD DESIGN** NO ITEMS REQUIRED. **FRENCH** A subscription of \$30 to the "Education Perfect" website is also charged to the student's fee account during the year, as it provides access to the international vocabulary competition and has been very successful in building vocabulary in recent vears. P03906 40.95 40.95 Tricolore Total 1 Student Book [Honnor et all 21 1 P51616 Exercise Bk A4 PP Cover 8mm 96pg with Margin Spirax 22 1 2.40 2.40 **HUMANITIES & SOCIAL SCIENCES** C03388 Scotch WA Humanities Digital Resource Year 7 23 ORDER ONLINE 34.95 34.95 This item is only available through Campion. It contains a digital only resource for Humanities (Oxford Big Ideas WA Humanities & SS 7). Access to your digital resource including log in details will be provided to you during class. P55546 Exercise Book A4 64 Page 8mm 1.15 1.15 **INDONESIAN NO ITEMS REQUIRED MATERIALS DESIGN** P56209 Handy Pouch A3 25 1 6.55 6.55 P58560 Safety Glasses Uves Hunter Black Frame 26 19.95 19.95 **MATHEMATICS** A subscription to the Mathspace e-resource will be purchased and charged to your school account. C03386 57 95 Scotch WA Maths Digital Resource Year 7 ORDER ONLINE 1 57.95 This item is only available through Campion. It contains a digital only resource for Mathematics (Cambridge AC Essential Maths 7 3rd Edition). Access to your digital resource including log in details will be provided to you during class. P55662 Graph Book A4 5mm 96 Page 1.75 1.75 Items Below To Be Retained for Year 8 P56353 Protractor 10 cm 180 4" Half Circle 29 0.45 0.45 1 P52000 Calculator Casio Scientific FX-82AU Plus II 2E 30 1 38.95 38.95 **MUSIC** Year 7 Musicianship Booklet (printed by Scotch) at the costof \$5.00 will be charged to your school account. A subscription for Noteflight Bundle will be purchased(approximately \$17.00) and charged to your school account. **SCIENCE** A subscription to Stile Science will be purchased (approximately \$45.00) and charged to your school account. P51616 Exercise Book A4 96 Page 8mm PP Cover with Margin Spirax 2.40 2.40 STEM **NO ITEMS REQUIRED VISUAL ART**

NO ITEMS REQUIRED

Please tick the items required in the box provided \downarrow

 Item Item
 Qty
 Unit
 Total

 Office Use
 Description
 No. Reqd
 Reqd Price \$ Amount \$

Number of Boxes ticked:

Postage (Home delivery only)

\$0.00

ESTIMATED AMOUNT DUE

(PRICES CORRECT AT 07/12/21)

\$